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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1094 5.5 1.9 9 61 100
2 1093 4.9 2.2 10 48.8 99.9
3 1093 5.4 2.8 11 49.4 99.9
4 1093 9.4 3.3 18 52.1 99.9
5 1093 9.9 4.1 21 46.9 99.9
6 1093 2.6 2.1 9 28.9 99.9
7 1093 4.9 3.1 12 40.9 99.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.

Line
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(c)	 (i)	 For one short haul destination you have studied, evaluate attractions which appeal 

to different types of UK visitors.	 [8]

			 Name of short haul destination:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(ii)	 Suggest two types of promotional material used to market short haul destinations.
[2]

1.	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

2.	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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	 (iii)	 Explain why short haul destinations use promotional materials.	 [2]
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B4ci: 2

Sticky Note
Candidates should have a detailed knowledge and understanding of a short haul destination - see page 11 of the specification. The candidate should have been able to gain more marks for this question.



B4cii: 1

B4ciii: 0

Sticky Note
Candidates should be aware that tourism destinations do need to market themselves  in order to inform and persuade tourists to visit - see page 11 of the specification.







B4ci: 1

Sticky Note
Candidates are required to study and evaluate one tourism destination within Europe - see page 11 of the specification. It is still surprising how many centres fail to study case studies in sufficient detail and as a result a good number of marks are lost.



B4cii: 0

B4ciii: 0







B4ci: 5

Sticky Note
The candidate has demonstrated some knowledge and understanding of the chosen destination's attractions. However, if Paris was the centre's case study then other major attractions should have been included. e.g. Notre Dame, The Louvre and the Arc de Triomphe. A clear evaluation is also required for upper Level 2 and Level 3.



B4cii: 2

B4ciii: 2
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City tourism destinations usually offer a variety of transport methods that help tourists travel 
around the city and enjoy their visit.

(b)	 (i)	 Describe the variety of transport methods offered by city destinations. Give 
examples to support your answer.	 [6]

5.
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	 Many cities are introducing measures to reduce the negative environmental impacts of transport 
within their destination.

	 (ii)	 Suggest two measures that cities have introduced to reduce the negative 
environmental impacts of transport within their destination.	 [4]

	 1.	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	

	

	

	

	 2.	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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B5bi: 3

Sticky Note
This is a good example of a generic answer which restricts the marks to Level 1. Level 2 answers often included examples from the candidate's  case studies.



B5bii: 1

Sticky Note
Candidates often have a good knowledge and understanding of the negative environmental impacts of leisure and tourism. However, many candidates have a weak knowledge and understanding of how negative impacts are reduced / tackled. 







B5bi: 3

Sticky Note
The candidate has described a good range of appropriate transport methods. However, no examples have been provided. The answer is generic and therefore restricted to Level 1. Better answers included similar examples to those given in the mark scheme.



B5bii: 2

Sticky Note
The candidate has given two realistic suggestions. However, there is insufficient development for 3 or 4 marks to be awarded.
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	 (b)	 Choose one other influence from the box and explain how it might affect people’s choice 
of leisure and tourism activities.	 [6] 

		 Chosen influence:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

9

6.



Tony
Sticky Note
Marked set by Tony



B6b: 0

Tony
Sticky Note
Marked set by Tony

Sticky Note
This a weak candidate who has misread the question. However, examination techniques and tips are always worth exploring - see Principal Examiner's report.





B6b: 0

Sticky Note
Candidates need to understand that changes in lifestyle will influence people's choice of leisure and tourism activities - see page 11 of the specification.





B6b: 2

Sticky Note
The candidate has provided a basic attempt and is therefore restricted to Level 1. Candidates should understand how changes in lifestyle influence people's choice of leisure and tourism activities - see page 11 of the specification. This is a topic which centres might give more time i order to improve knowledge and understanding. 
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SECTION B 
 


Question Answer 
Mark 


Allocation 
Assessment 


Objective 


4. (a) True 
False 
True 
False 
 


0 - 4 A01 - 4 


 (b) Possible advantages: 
 


 Shorter journey time 


 Cheaper 


 City or short break options are more 
realistic 


 Some people only have time for 2-5 day 
holiday 


 
Any 2 appropriate advantages 
 


0 - 2  A02 - 2 


 (c) (i) Possible attractions: 0 - 8  A01 - 3 
  Natural. 


 Built/Purpose-built. 


 A03 - 5 


  
Visitor types: 


 Groups. 


 Families. 


 Couples. 


 Special interest. 


 Adrenalin junkies. 


 Beach bums. 


 Culture vultures. 
 
The choice of attractions will depend on 
the destination chosen. Candidates are 
not required to include natural, built and 
purpose-built attractions. 
 


  


 Levels marked 
 


  
 Level 1 - a basic description including only 


one or two attractions and visitor types. Little 
knowledge and understanding. Little 
evaluation. Generic/list type answer. 
 


1 - 3  


 Level 2  - a detailed answer including at 
least two or three attractions and visitor 
types. Some knowledge and understanding. 
Some evaluation. 
 


4 - 6  


 Level 3 - a well-developed answer including 
at least three or four attractions and visitor 
types. Clear knowledge and understanding. 
Clear evaluation 
 


7 - 8  
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Question Answer 
Mark 


Allocation 
Assessment 


Objective 


 (ii) Possible promotional material: 


 The candidate’s answers might depend 
on the destination chosen. 


 Websites 


 Internet pop-ups 


 TV programmes 


 TV adverts 


 Magazines/newspapers 


 Brochures 


 Advertisements 
 
Any two appropriate examples. 
 


0 - 2 A01 - 2 


 (iii) Sample answer: 
Tourism destinations use promotional 
materials in order to attract tourists (1). The 
more tourists that are attracted to a tourism 
destination results in more profits for travel 
and tourism organisations (1). 
 
Permutation: 2 marks. 1 mark for an 
appropriate reason and 1 mark for clear 
development. 
 


0 - 2  A03 - 2 


 Total marks 18  
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Question Answer Mark 
Allocation 


Assessment 
Objective 


 (b) (i) 
 


Possible answers: 
Metro/tube  London. Paris. 
 Taxis. London black 
 cabs. New York - 
 yellow taxis. 
Bus  London red bus. 
Train  London. Tokyo. 
Bicycles  Boris (Barclays) bikes. 
Rickshaws  Mumbai. Beijing. 
Trams  Manchester.  
 Nottingham. San 
 Francisco. 
Sightseeing buses London. Blackpool. 
 


0 - 6 A02 - 6 


 Levels marked 
 


  


 Level 1 - a basic description with only 1 or 2 
examples of city transport methods. Little 
knowledge and understanding. Generic/list 
type answer. 
 


1 - 3  


 Level 2 - a detailed description with only two 
or three examples of city transport methods. 
Some knowledge and understanding 
 


4 - 6  


  (ii) Possible answers: 


 Low carbon emission buses 


 Electric trams 


 Bike hire 


 Electric car hire 


 Auto rickshaws 


 A city centre tariff 


 Park and ride 
 
Permutations: 2x2 marks. 1 mark for an 
appropriate measure and 1 mark for 
development.  
 


0 - 4 A02 - 4 


 Total marks  21  
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Question Answer 
Mark 


Allocation 
Assessment 


Objective 


6. (a) Possible answers: 


 To gather information 


 To book flights 


 To reserve a car 


 Travel insurance 


 Social media sites - Twitter, Facebook 


 Review sites 


 Advertisements/offers/price comparisons 
 
Any three appropriate answers. 
 


0 - 3  A02 - 3 


 (b) Possible answers: 
 
Family structure: 


 The increase in single parent families 
means that the parent might opt for 
leisure activities which cater for a young 
child. E.g. by offering a crèche.  


 
Environmental awareness: 


 People might decide to walk or cycle 
rather than use their car. 


 People might opt for a ‘green’ 
accommodation provider. 


 
Levels marked 
 


0 - 6 A03 - 6 


 Level 1 - a basic explanation including only 
one or two examples of how the chosen 
influence affects people’s choice of leisure 
and tourism activities. 
Little knowledge and understanding. List 
type answer. 
  


1 - 3  


 Level 2 - a detailed explanation including at 
least two or three examples of how the 
chosen influence affects people’s choice of 
leisure and tourism activities. Some 
knowledge and understanding. 
 


4 - 6  


 Total marks 9  
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